PreCalculus
February Quiz

Answer the following with nouns, verbs, and –ly words. Document your path to solution. 

1. Give the quadratic that is the same as -3cos(2(x - 0.5)) + 3. State the Domain for which the two function values differ no more than 3%.
2. Given the following information collected from some experiments. Generate the COSINE function in the form below, and identify the values of the following (include meaning, and units). Use the form:

y = A * cos (B * ( x – C )) + D 

Data for the height of the tide as a function of time:
	Hour
	Meters

	1
	1151.7

	2
	1153.0

	3
	1153.5

	4
	1153.1

	5
	1152.0

	6
	1150.4

	7
	1148.6

	8
	1147.2

	9
	1146.5

	10
	1146.7

	11
	1147.7

	12
	1149.3

	13
	1151.0

	14
	1152.5

	15
	1153.4


3. Using this example as a model for A: The Amplitude
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Create a series of graphs showing off your understanding of one of the other parameters [B, C, D]. Explain and share your sequence.
4. For this clock, we have the following data. Create a Plot of the data and get the function in the form of y = Acos (B (x – C)) + D. Identify the values of A, B, C, and D with the units.
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	Time

(Hours)
	Height

(cm)
	Time

(Hours)
	Height

(cm)

	3:00 PM
	1012.5
	 4:42 PM
	1002.7

	3:17 PM
	1003.4
	4:59 PM
	1012.5

	3:34 PM
	998.2
	5:16 PM
	1004.2

	3:51 PM
	1009.4
	5:33 PM
	997.9

	4:08 PM
	1010.0
	5:50 PM
	1008.8

	4:25 PM
	998.5
	6:07 PM
	1010.6


5. Use your Quadratic program to determine the reaction time required to just defeat a person playing with a 17.7 cm object thrown down with a speed of 2 cm/sec. Show your program results.

6. Place this image and collect at least 7 points to determine a nonlinear function. Report the function name and type with a plot.
[image: image5.jpg]



7. Graph the parametric pair and then determine the rectangular equation. Verify by graphing. 
                                 y = 2 + 5 sin(θ)

                                 x = 3 + 3 cos(θ)
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